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Place value

     4       ×     _____      =    40

     5       ×      _____      =  500

     9       ×     _____      =  9,000

     7       ×      _____      =  700,000

    30      ×     _____      =  30,000

    67      ×      _____      =  67,000

  422      ×     _____      =  4,220

 5,500      ×      _____      =  55,000

 65,700   ×     _____      =  6,570,000

320,000  ×      _____      =  32,000,000

Balloon Math
Write the missing number that makes the balloon bigger.

Brain 
Box
When multiplying 
a whole number 
by 10, put a zero 
at the end. When 
multiplying by 100, 
put two zeroes. 
When multiplying 
by 1,000, put three 
zeroes, and so on. 

76 × 10 = 760

76 × 100 = 7,600

76 × 1,000 = 76,000 


